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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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The average age of 10 players was
decreased by 2 Yealy when two
players are replaced by two new
players of 22 years and 26 years.
What is the average age of the
replaced players?

(a) 29 (b) 36 c)34
(d) 24 (e) None of these




The average age of 10 persons in a

when two men aged 45 yrs and 65 vrs
are substituted by two women. Find
the average age of these two women.

=
(a) 70 (b) 60 (c) 80 / $
(d) 50 (e) None of these
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The average daily temperature from

Monday to Saturday (both days inclusive)
was 34°C and that from Tuesday to Sunday
(both days inclusive) was 40°C. The
temperature of Monday was 12°C. What

was the temperature of Sunday ¢

(a) 36° C (b) 48° C (c)45° C
(d) 46° C (e) None of these






Overlapping nf Data



Average-4 (Overlapping)

MATHS WITH SACHIN BALIYAN SIR




Average-4 (Overlapping)

| MATHS WITH SACHIN BALIYAN SIR

@ Sum







The average of 19 results is 70. If
the average of the first 10 results
is 60 and that of the last 10 is 85.
Find the 10th result.

(a)110 (b)120 (c) 130 (d)
140 (e) None of these.
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If the average of 14 numbers is 62 in O O
which the average of the first 8

numbers is 53 and that of the last 9 l/ —q+x%=
numbers is 76 then find the 7th@ hx Q=
number if the ratio of 6th, 7th and 8th

number is 2:3:5?

(a) 110 J()n (c) 30

(d) 24 (e) None of these.







